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QUESTION: 73 

What is the value in XOR Result after the following code has executed? 


A. 0 
B. 1 
C. True 
D. False 

Answer: B 

QUESTION: 74 

Which of the following statements regarding the index of Arrays are NOT true?
 

A. The index is used to access a particular element of an Array. 
B. The index ranges from 1 to n. 
C. A 2-D Array has both a column index and a row index. 
D. The index ranges from 0 to n-1. 

Answer: B 

QUESTION: 75 

Clusters provide a user with which of the following benefits?
 

A. Clusters allow a logical grouping of related data elements. 
B. Clusters increase the number of Connector Pane terminals of SubVI’s. 
C. Clusters help to reduce wire clutter on the Block Diagram. 
D. Both A. and C.  



 
 

 
 

 
 

 
 

 
 

 
 
 

 
 

 
 

 

Answer: D 

QUESTION: 76 
Which chart update mode plots new data from left to right, then clears the chart 
and plots the newer data? 

A. Strip Chart 
B. Scope Chart 
C. Sweep Chart 
D. Step Chart 

Answer: B 

QUESTION: 77 

Which of the following methods will create an XY Graph with two plots?
 

A. Create a single cluster from two arrays of X values and two arrays of Y values 
in an X, Y, 
B. X, Y pattern. 
C. Bundle the X and Y array pairs together into two clusters and then create an 
array of these two clusters. 
D. Bundle the X and Y array pairs together into two clusters and create a cluster 
of these two clusters. 
E. Create a single array of each of the X arrays and Y arrays in an X, Y, X, Y 
pattern. 

Answer: B 

QUESTION: 78 
Which of the following terminals controls how many times a For Loop will 
execute? 



 
 
 

 
 

 
 

 
 

A. Option A 
B. Option B 
C. Option C 
D. Option D 

Answer: D 

QUESTION: 79
 
What is the value in after substring upon completion of the following code?
 



 
 
 

 
 

 
 

 
 

 
 
 

A. world! 
B. rld! 
C. h hello world! 
D. <blank> 

Answer: B 

QUESTION: 80 

Which of the following cannot be used to transfer data? 


A. Local variables 
B. Queues 
C. Semaphores 
D. Notifiers 

Answer: C 



https://killexams.com/search

